## TABULATION OF BIDS CITY OF CORPUS CHRISTI, TEXAS - CONTRACTS AND PROCUREMENT DEPT.

BID DATE: Wednesday - Nov. 13, 2019

	E: Wednesday - Nov. 13, 2019			1									
	STREET PREVENTATIVE MAINTENANCE PROGRAM F	2019			BA	Y LT	ΓD.		HAAS-AN	DERSON LTE	A.ORTIZ CONSTR/PAVING		
	PROJECT NO. 18135A - RFB #2622				1414 VA	<b>ALE</b>	RO WAY	PO BOX 7692				102 AIRPORT RD	
					CORPUS C	HRI	STI, TEXAS		CORPUS C	HRISTI, TEXA	S	CORPUS	CHRISTI, TEXAS
ITEM	DESCRIPTION	UNIT	QTY		UNIT PR		AMOUNT		UNIT PR	AMOUN	IT	UNIT PR	AMOUNT
	BID - PART 1: ULTRA THIN BONDED WEAR COURSE												
PART A -	- GENERAL												
1-A1	MOBILIZATION	LS	1	\$	325,000.00	\$	325,000.00	\$	736,000.00	\$ 736,	000.00		
1-A2	PROJECT BONDS AND PROJECT SPECIFIC INSURANCE	LS	1	\$	130,000.00	\$	130,000.00	\$	130,000.00	\$ 130,	000.00		
1-A4	TRAFFIC CONTROL AND SWPPP(EXCLUDING SEDIMENT CONTROL FENCING), COLLECTOR STREETS, SET-UP, MAINTENANCE AND REMOVAL TRAFFIC CONTROL AND SWPPP(EXCLUDING SEDIMENT	EA	38	\$	9,900.00	\$	376,200.00	\$	6,100.00	\$ 231,	800.00		
1-A5	CONTROL FENCING), ARTERIAL STREETS, SET-UP, MAINTENANCE AND REMOVAL	EA	72	\$	11,500.00	\$	828,000.00	\$	8,900.00	\$ 640,	800.00		
1-A6	OZONE DAYS	DAY	4	\$	120.00	\$	480.00	\$	553.00	\$2,	212.00		
1-A7	CURB PAINTING (YELLOW NO-PARKING ZONE)	LF	2200	\$	0.28	\$	616.00	\$	0.30	\$	660.00		
1-A8	CURB PAINTING (RED FIRE ZONE)	LF	600	\$	0.28	\$	168.00	\$	0.30	\$	180.00		
1-A9	LANDSCAPE IMPROVEMENTS, INCLUDING 4" CLEAN TOP SOIL, SOD, EXCAVATION, BACKFILL, COMPACTION, WITH ESTABLISHED GROWTH	SY	5000	\$	33.00	\$	165,000.00	\$	22.00	\$ 110,	000.00		
1-A10	TYPE 1 SELF-SUPPORTED TEMPORARY SEDIMENT CONTROL FENCE, MAINTAINED AND REMOVED	LF	1150	\$	12.25	\$	14,087.50	\$	7.15	\$ 8,	222.50		
1-A11	GPS (8MM HORIZONTAL AND 15 MM VERTICAL MINIMUM ACCURACY) SURVEY OF AS BUILTS - COORDINATES SHALL BE IN TX 4205 STATE PLANE, NAD 83 AND NAVD 88 DATUM PER STREET	EA	110	\$	1,100.00	\$	121,000.00	\$	1,185.00	\$ 130,	350.00		
1-A12	RIDE QUALITY ANALYSIS TO INCLUDE STREET SURFACE EVALUATION WITH CALIBRATED EQUIPMENT AND APPROVED REPORTS WITH BEFORE AND AFTER SUMMARIES FOR EACH STREET	EA	110	\$	1,100.00	\$	121,000.00	\$	356.00	\$ _39,	160.00		
	SUBTOTAL PART A - GENERAL					\$	2,081,551.50			\$ 2,029,3	84.50		NO BID
PART B -	- STREET IMPROVEMENTS												
1-B4	10" THICK COLLECTOR/ARTERIAL SUBGRADE AND BASE REPAIR WITH LIMESTONE BASE WITH EXCAVATION/REMOVAL PLACEMENT, PRIME COAT, COMPACTION, ETC.	SY	5000	\$	42.00	\$	210,000.00	\$	40.00	\$ 200,	000.00		

	STREET PREVENTATIVE MAINTENANCE PROGRAM FY 2019				BA	YL	TD.		HAAS-AN	DERSON LTD	A.ORTIZ CONSTR/PAVING		
	PROJECT NO. 18135 - RFB #2622			1414 VALERO WAY					PO B	OX 7692	102 AIRPORT RD		
					CORPUS C	HRI	ISTI, TEXAS		CORPUS CHRISTI, TEXAS		CORPUS	CHRISTI, TEXAS	
ITEM	DESCRIPTION	UNIT	QTY		UNIT PR		AMOUNT		UNIT PR	AMOUNT	UNIT PR	AMOUNT	
	10" THICK COLLECTOR/ARTERIAL SUBGRADE AND BASE REPAIR WITH CEMENT TREATED LIMESTONE BASE WITH												
1-B5	EXCAVATION/REMOVAL PLACEMENT, PRIME COAT, COMPACTION, ETC.	SY	5000	\$	44.00	\$	220,000.00	\$	49.00	\$ 245,000.00			
	10" DEEP COLLECTOR/ARTERIAL SUBGRADE AND BASE REPAIR WITH TYPE B, SAC-B, PG64-22 HMAC WITH EXCAVATION/REMOVAL PLACEMENT, TACK COAT,												
1-B6	COMPACTION, ETC.	SY	40000	\$	72.00	\$	2,880,000.00	\$	74.00	\$ 2,960,000.00			
1-B7	CEMENT FOR CEMENT TREATMENT	TON	120	\$	220.00	\$	26,400.00	\$	175.00	\$ 21,000.00			
1-B8	TX5-475 TRIAXIAL GEOGRID, WITH MATERIAL AND PROPER PLACEMENT.	SY	5000	\$	4.70	\$	23,500.00	\$	3.85	\$ 19,250.00			
1-B9	HMAC SAW CUTTING (0 TO 4" DEPTH)	LF	85000	\$	1.70	\$	144,500.00	\$	0.90	\$ 76,500.00			
4 540	PATCHING/SMALL AREA SURFACE RESTORATION - HMAC, TYPE "D" PER TON WITH SMALL EQUIPMENT PLACEMENT, REMOVAL OF EXISTING, PLACEMENT OF NEW, COMPACTION,	TON	200		240.00	4	c2 000 00	<u>,</u>	240.00	A 42 222 22			
1-B10	CURING, HAULING, ETC. CRACK SEAL WITH ALL SURFACE PREPARATION AND	TON	200	\$	310.00	Ş	62,000.00	Ş	219.00	\$ 43,800.00			
1-B11	APPLICATION	LF	45500	\$	2.30	Ś	104,650.00	Ś	1.25	\$ 56,875.00			
1-B12	HMAC - TYPE "D" LEVEL-UP COURSE (3" DEPTH MAXIMUM)	TON	3400	\$	150.00	-	510,000.00	\$	139.00	\$ 472,600.00			
1-B13	PLANING (MILLING)(0" TO 2") WITH ALL PREPARATION MILLING OPERATIONS, HAULING, ETC.	SY	25000	\$	4.60			\$	3.45	\$ 86,250.00			
1-B14	PROOF ROLLING WITH EQUIPMENT, OPERATOR, ETC.	HOUR	400	\$	87.00	\$	34,800.00	\$	101.00	\$ 40,400.00			
1-B16	SURFACE TREATMENT - HMAC, TYPE "D", SAC-B, PG70-22 (COLLECTOR ROAD MIX) PER TON WITH TACK COAT, PLACEMENT, COMPACTION, CURING, HAULING, ETC.	TON	2750	\$	125.00	\$	343,750.00	\$	118.00	\$ 324,500.00			
1-B17	SURFACE TREATMENT - HMAC, TYPE "D", SAC-B, PG76-22 (ARTERIAL ROAD MIX) PER TON WITH TACK COAT, PLACEMENT, COMPACTION, CURING, HAULING, ETC.	TON	1375	\$	137.00	\$	188,375.00	\$	114.00	\$ 156,750.00			
1-B18	ULTRA-THIN BONDED WEAR COURSE MEMBRANE	GAL	190000	\$	3.00	\$	570,000.00	\$	3.20	\$ 608,000.00			
1-B19	ULTRA-THIN BONDED WEAR COURSE ASPHALT	TON	2600	\$	170.00	-		\$		\$ 447,200.00			
1-B20	ULTRA-THIN BONDED WEAR COURSE AGGREGATE	TON	45000	\$	160.65		7,229,250.00	\$	172.00	\$ 7,740,000.00			
	PAVEMENT MARKING, REFLECTORIZED THERMOPLASTIC,			İ				1		· · ·			
1-B21	TYPE I, 90 MIL THICKNESS - WHITE 8" SOLID	LF	12850	\$	0.80	\$	10,280.00	\$	0.75	\$ 9,637.50			
1-B22	PAVEMENT MARKING, REFLECTORIZED THERMOPLASTIC, TYPE I, 90 MIL THICKNESS - WHITE 4" SOLID	LF	142000	\$	0.40	\$	56,800.00	\$	0.40	\$ 56,800.00			
1-B23	PAVEMENT MARKING, REFLECTORIZED THERMOPLASTIC, TYPE I, 90 MIL THICKNESS - WHITE 4" BROKEN	LF	260000	\$	0.40	\$	104,000.00	\$	0.40	\$ 104,000.00			
1-B24	PAVEMENT MARKING, REFLECTORIZED THERMOPLASTIC, TYPE I, 90 MIL THICKNESS - YELLOW 4" SOLID	LF	260000	\$	0.40	\$	104,000.00	\$	0.40	\$ 104,000.00			

9	TREET PREVENTATIVE MAINTENANCE PROGRAM F	2019			BA	YĽ	TD.		HAAS-AN	DERSON LTD	A.ORTIZ CONSTR/PAVING		
	PROJECT NO. 18135 - RFB #2622			1414 VALERO WAY					-	OX 7692	102 AIRPORT RD		
							ISTI, TEXAS			HRISTI, TEXAS	CORPUS CHRISTI, TEXAS		
ITEM	DESCRIPTION	UNIT	QTY		UNIT PR	AMOUNT		┢	UNIT PR	AMOUNT	UNIT PR	AMOUNT	
	PAVEMENT MARKING, REFLECTORIZED THERMOPLASTIC,	UNIT	QTT		ONIT FR		ANICONT	┢	ONTER	ANIOUNT	ONTER	ANIOUNT	
1-B25	TYPE I, 90 MIL THICKNESS - YELLOW 4" BROKEN	LF	149000	\$	0.40	\$	59,600.00	\$	0.40	\$ 59,600.00			
	RAISED PAVEMENT MARKERS (REFLECTORIZED), TYPE IC, IIAA			·		·		Ė		. ,			
1-B26	OR IIC-R, AS APPLICABLE	EA	26500	\$	3.20	¢	84,800.00	¢	3.05	\$ 80,825.00			
1-020	SPEED HUMP, MARKED WITH WHITE, TYPE C HEAT APPLIED,	LA	20300	ڊ ا	5.20	Ş	84,800.00	ç	5.05	\$ 80,823.00			
1-B27	125 MIL, PREFORMED THERMOPLASTIC	EA	11	\$	1,900.00	\$	20,900.00	\$	4,530.00	\$ 49,830.00			
	SPEED TABLE, MARKED WITH WHITE, TYPE C HEAT APPLIED,				,	·	,	Ė	,	, ,			
1-B28	125 MIL, PREFORMED THERMOPLASTIC	EA	2	\$	2,600.00	\$	5,200.00	\$	6,280.00	\$ 12,560.00			
	PAVEMENT MARKINGS ( 24" WIDE, WHITE, TYPE C HEAT					ſ							
	APPLIED, 125 MIL, PREFORMED THERMOPLASTIC "STOP BAR"												
1-B29	MARKING LINES)	LF	7700	\$	13.75	\$	105,875.00	\$	13.00	\$ 100,100.00			
	PAVEMENT MARKINGS (CROSSWALK MARKINGS - TOTAL LF												
4 520	OF 24" WIDE, WHITE, TYPE C HEAT APPLIED, 125 MIL PREFORMED THERMOPLASTIC MARKING TAPE)	LF	126700	ć	9.00	÷	1 1 40 200 00	4	2.20	ć <u>278 740 00</u>			
1-B30	PAVEMENT MARKINGS ("ONLY" LETTERING - WHITE, TYPE C	LF	126700	Ş	9.00	Ş	1,140,300.00	Ş	2.20	\$ 278,740.00			
1-B31	HEAT APPLIED, 125 MIL PREFORMED THERMOPLASTIC)	EA	135	\$	320.00	\$	43,200.00	Ś	303.00	\$ 40,905.00			
1 001	······································	273	100	Ŷ	520.00	Ŷ	13,200.00	Ŷ	303.00	÷ 10,503.00			
	PAVEMENT MARKINGS (TURN ARROW MARKINGS												
	(THROUGH, TURN AND TURN AND THROUGH) - WHITE, TYPE												
1-B32	C HEAT APPLIED, 125 MIL PREFORMED THERMOPLASTIC)	EA	322	\$	210.00	\$	67,620.00	\$	204.00	\$ 65,688.00			
	SUBTOTAL PART B - STREET IMPROVEMENTS					\$	14,906,800.00			\$ 14,460,810.50		NO BID	
PART C -	CONCRETE ACTIVITIES												
	REMOVAL AND REPLACEMENT OF BETWEEN 0 TO 18 LF OF												
	CONCRETE CURB AND GUTTER AT UP TO THREE LOCATIONS												
	ON A SINGLE STREET, INCLUDING, DEMO, CONCRETE SAW												
	CUTS, DOWELING, DISPOSAL, FORMS, REBAR, CONCRETE, GEOTEXTILE, COMPACTION, CURING, HMAC SAW CUT, HMAC												
1-C1	PATCHING, PRIME COAT, TACK COAT, FINISH, ETC.	EA	300	Ś	1,300.00	Ċ	390,000.00	ć	2,110.00	\$ 633,000.00			
		-7	500	~	1,500.00	Ŷ	550,000.00		2,110.00	- 000,000.00			
	REMOVAL AND REPLACEMENT OF BETWEEN 18 LF TO 36 LF												
	OF CONCRETE CURB AND GUTTER AT UP TO TWO LOCATIONS												
	ON A SINGLE STREET, INCLUDING, DEMO, CONCRETE SAW												
	CUTS, DOWELING, DISPOSAL, FORMS, REBAR, CONCRETE,												
	GEOTEXTILE COMPACTION, CURING, HMAC SAW CUT, HMAC												
1-C2	PATCHING, PRIME COAT, TACK COAT, FINISH, ETC.	EA	150	\$	2,400.00	\$	360,000.00	\$	3,430.00	\$ 514,500.00			

	STREET PREVENTATIVE MAINTENANCE PROGRAM F	/ 2019			RΔ	YL			ΗΔΔς-ΔΝ				ONSTR/PAVING
	PROJECT NO. 18135 - RFB #2622	2019						HAAS-ANDERSON LTD PO BOX 7692					
	1105ECT 100. 10105 1110 #2022			1414 VALERO WAY								102 AIRPORT RD	
			_		CORPUS C	HRI	,		CORPUS C	HRIS	•		CHRISTI, TEXAS
ITEM	DESCRIPTION	UNIT	QTY		UNIT PR		AMOUNT	ι	JNIT PR		AMOUNT	UNIT PR	AMOUNT
1-C3	REMOVAL AND REPLACEMENT OF OVER 36 LF OF CONCRETE CURB AND GUTTER AT A SINGLE LOCATION ON A SINGLE STREET, INCLUDING, DEMO, CONCRETE SAW CUTS, DOWELING, DISPOSAL, FORMS, REBAR, CONCRETE, GEOTEXTILE, COMPACTION, CURING, HMAC SAW CUT, HMAC PATCHING, PRIME COAT, TACK COAT, FINISH, ETC.	LF	5400	Ś	69.00	Ś	372,600.00	Ś	68.00	Ś	367,200.00		
1-C4	REMOVAL AND REPLACEMENT OF "STANDARD" 6" CONCRETE DRIVEWAYS, APPROACHES, ASSOCIATED SIDEWALK AND CURB ANG GUTTER INCLUDING, DEMO, CONCRETE SAW CUTS, DOWELING, DISPOSAL, FORMS, REBAR, CONCRETE, COMPACTION, CURING, HMAC SAW CUT, HMAC PATCHING, PRIME COAT, TACK COAT, FINISH, ETC.	SF	15000	\$	14.00		210,000.00				345,000.00		
1-C5	REMOVAL AND REPLACEMENT OF "WASHED" 6" CONCRETE DRIVEWAY APPROACHES, ASSOCIATED SIDEWALK AND CURB ANG GUTTER, INCLUDING, DEMO, CONCRETE SAW CUTS, DOWELING, DISPOSAL, FORMS, REBAR, CONCRETE, COMPACTION, CURING, HMAC SAW CUT, HMAC PATCHING, PRIME COAT, TACK COAT, FINISH, ETC.	SF	1500	Ś	18.50		27,750.00		24.00		36,000.00		
1-C6	REMOVAL AND REPLACEMENT OF CONCRETE VALLEY GUTTER, INCLUDING, DEMO, CONCRETE SAW CUTS, DOWELING, DISPOSAL, FORMS, REBAR, CONCRETE, GEOTEXTILE, COMPACTION, CURING, HMAC SAW CUT, HMAC PATCHING, PRIME COAT, TACK COAT, FINISH, ETC.	LF	700	\$	195.00		136,500.00				161,000.00		
	SUBTOTAL PART C - CONCRETE ACTIVITIES					\$	1,496,850.00			\$	2,056,700.00		NO BID
PART D -	MINOR UTILITY IMPROVEMENTS												
1-D1	WASTEWATER MANHOLE RING & COVER ADJUSTMENT, INCLUDING NEW MANHOLE RING & COVER ASSEMBLY WITH NEW HEIGHT ADJUSTMENT RINGS, STAINLESS STEEL INFLOW INHIBITOR, AND WITH CONCRETE COLLAR, WITH DEMO DISPOSAL, FORMS, REBAR, CONCRETE, CURING COMPACTION, FINISH,ETC.	EA	330	\$	2,100.00	\$	693,000.00	\$	2,750.00	\$	907,500.00		
1-D2	STORMWATER MANHOLE RING & COVER ADJUSTMENT, INCLUDING NEW MANHOLE RING & COVER ASSEMBLY WITH NEW CONCRETE COLLAR, WITH DEMO, DISPOSAL, FORMS, REBAR, CONCRETE, CURING COMPACTION, FINISH,ETC.	EA	330	\$	1,700.00	\$	561,000.00	\$	2,070.00	\$	683,100.00		

	STREET PREVENTATIVE MAINTENANCE PROGRAM FY 2019				BA	Y LT	D.		HAAS-AN	IDEF	RSON LTD	A.ORTIZ CONSTR/PAVING		
	PROJECT NO. 18135 - RFB #2622				1414 VA	11 F F		PO BOX 7692				102 AIRPORT RD		
								CORPUS CHRISTI, TEXAS				CORPUS CHRISTI, TEXAS		
ITEM	DESCRIPTION	UNIT	ΟΤΥ		UNIT PR	CHRISTI, TEXAS			NIT PR	ΠΚΙ	-	UNIT PR	AMOUNT	
TIEIVI	ELECTRIAL/TELECOMMUNICATIONS MANHOLE RING &	UNIT	QTY		UNIT PR		AMOUNT	0			AMOUNT	UNIT PR	AMOUNT	
	COVER ADJUSTMENT, INCLUDING SALVAGING AND													
	INSTALLING EXISTING MANHOLE RING & COVER ASSEMBLY													
	WITH NEW CONCRETE COLLAR, INCLUDING DEMO, DISPOSAL,													
	FORMS, REBAR, CONCRETE, CURING COMPACTION,													
1-D3	FINISH,ETC.	EA	30	\$	2,200.00	Ś	66,000.00	Ś	2,050.00	Ś	61,500.00			
105	WATER VALVE COVER ADJUSTMENT WITH NEW CAST IRON	LA	50	Ŷ	2,200.00	Ŷ	00,000.00	Ŷ	2,030.00	Ŷ	01,500.00			
	VALVE BOX AND COVER, CONCRETE COLLAR, WITH DEMO,													
	DISPOSAL, FORMS, REBAR, CONCRETE, COMPACTION, FINISH,													
1-D4	ETC.	EA	320	\$	680.00	Ś	217,600.00	Ś	1,130.00	Ś	361,600.00			
	GAS VALVE COVER ADJUSTMENT, WITH NEW CAST IRON			É		-	.,	<u> </u>	,	-				
	VALVE BOX AND COVER, DEMO, DISPOSAL, FORMS, REBAR,													
1-D5	CONCRETE, CURING, COMPACTION, FINISH, ETC.	EA	320	\$	1,300.00	\$	416,000.00	\$	1,100.00	\$	352,000.00			
	REPLACEMENT OF CONCRETE COLLARS WITH HIGH EARLY			Ċ							,			
	STRENGTH CONCRETE (IN ADDITION TO UNIT PRICE) WITH													
1-D6	ACTIVITY D1, D2, D3 & D4 ABOVE	EA	750	\$	15.00	\$	11,250.00	\$	11.00	\$	8,250.00			
SL	SUBTOTAL PART D - MINOR UTILITY IMPROVEMENTS					\$	1,964,850.00			\$	2,373,950.00		NO BID	
PART E ·	ADA IMPROVEMENTS													
	REMOVAL AND REPLACEMENT OF BETWEEN 0 TO 72 SF OF													
	ALL TYPES OF 4" THICK CONCRETE SIDEWALK INCLUDING BUT													
	NOT LIMITED TO STANDARD SIDEWALK, APPROACHES TO													
	RAMPS, BIKE PATHS, ETC., AT UP TO THREE LOCATIONS ON A													
	SINGLE STREET WITH ALL DEMO, SAW CUTS, HAULING,													
	DISPOSAL, DOWELING, FORMS, REINFORCING STEEL,													
1-E1	CONCRETE, COMPACTION, CURING, FINISHING, ETC.	EA	250	\$	1,100.00	\$	275,000.00	\$	1,850.00	\$	462,500.00			
	REMOVAL AND REPLACEMENT BETWEEN 72 SF TO 144 SF OF													
	ALL TYPES OF 4" THICK CONCRETE SIDEWALK INCLUDING BUT													
	NOT LIMITED TO STANDARD SIDEWALK, APPROACHES TO													
	RAMPS, BIKE PATHS, ETC., AT UP TO TWO LOCATIONS ON A													
	SINGLE STREET WITH ALL DEMO, SAW CUTS, HAULING,													
4 50	DISPOSAL, DOWELING, FORMS, REINFORCING STEEL,	<b>F A</b>	400	~	2 200 00	~	276 000 00	<u>,</u>	2 000 00	~	242 000 00			
1-E2	CONCRETE, COMPACTION, CURING, FINISHING, ETC.	EA	120	\$	2,300.00	Ş	276,000.00	Ş	2,900.00	Ş	348,000.00			
	REMOVAL AND REPLACEMENT OF GREATER THAN 144 SF OF													
	ALL TYPES OF 4" THICK CONCRETE SIDEWALK INCLUDING BUT													
	NOT LIMITED TO STANDARD SIDEWALK, APPROACHES TO													
	RAMPS, BIKE PATHS, ETC., AT UP TO A SINGLE LOCATION ON													
	A SINGLE STREET WITH ALL DEMO, SAW CUTS, HAULING,													
	DISPOSAL, DOWELING, FORMS, REINFORCING STEEL,													
1-E3	CONCRETE, COMPACTION, CURING, FINISHING, ETC.	SF	17000	\$	15.75	\$	267,750.00	\$	16.00	\$	272,000.00			

STREET PREVENTATIVE MAINTENANCE PROGRAM FY 2019					BA	ΥĽ	TD.	HAAS-AN	NDE	RSON LTD	A.ORTIZ CONSTR/PAVING	
PROJECT NO. 18135 - RFB #2622					1414 VA	١LE	RO WAY	PO E	зох	7692	102 AIRPORT RD	
					CORPUS C	HR	STI, TEXAS	CORPUS	CHR	ISTI, TEXAS	CORPUS CHRISTI, TEXAS	
ITEM	DESCRIPTION	UNIT	QTY		UNIT PR		AMOUNT	UNIT PR		AMOUNT	UNIT PR	AMOUNT
1-E4	ADA COMPLIANT CONCRETE CURB RAMPS AND LANDINGS, ASSOCIATED SIDEWALK, HEADER CURB AND CURB AND GUTTER	SF	60000	\$	23.00	\$	1,380,000.00	\$ 28.00	\$	1,680,000.00		
4.55	DEMOLITION AND REMOVAL OF ADA CURB RAMPS AND LANDINGS, ASSOCIATED SIDEWALK, HEADER CURB AND		45000		0.50		202 500 00		ć			
1-E5	CURB AND GUTTER NEW 4" WIDE CONCRETE HEADER CURB (0" TO 6" HIGH) FOR	SF	45000	Ş	8.50	Ş	382,500.00	\$ 9.00	Ş	405,000.00		
1-E6	OFFSET ELEVATION CHANGES	LF	1500	\$	32.00	\$	48,000.00	\$ 20.00	\$	30,000.00		
	SUBTOTAL PART E - ADA IMPROVEMENTS					\$	2,629,250.00		\$	3,197,500.00		NO BID
	TOTAL BASE BID - PART 1 (A THRU E)					\$	23,079,301.50		\$	24,118,345.00		NO BID